BIANCA - FRZ: %1 #&UkiE DN 32-900

HiR
ERTERE. BRENSATITR, REFXIEANENEEMETR
AHRLIRIE, BI1995F LR, RiTAGEFiRt.

= EmfHIE

- iEIRLE B1 %3& DN 32-600
B3 X H DN 32-400
B4 UBYS% DN 400-900

- EWERT ##81S0 5752/20, EN 558-1/20

A= RIBEN 1SO 5211

cBEIEEN 16 bar (DN 32-300)
10 bar (DN 350-600)
6 bar (DN 700-900)

- EEE PN10, PN16, ANSI cl. 150
AS 2129 table D +E, JIS 10KHMIEE

< RESEE -20°C - 200°C fiB TR, EMBEIERAT
[, BN HIRITER,

* @I AT B R IEAR A FLBRZR A0 MRIBEDIN EN
60243-1. BB AT, EEMHIEP.
MR RIE EN 12266-1 leakage rate A,
SMNEITINHEEYBIER.

c E BIANCAE R BB E DIREIESNR S
E3K2014/68/EU (PED) i 1, ifAkZA%I1
FLAH2,

S I L BIANCAM &% 2 IEC 61508 / 61511, :&AF
EL2MRXNAFDHITIRE RE2=E
HHFERASIL 3.
BIANCABE BIB9S kAR A o] BB T B IR e
iER,

Dapuk €l AIEEN 1SO 15848-1

FDARI(EU) No. 10/2011  f5FBETeflon®F&FDA 21 CFR 177.1550 Al
(EU) No.10/2011

Bl B3
PP *E

ﬂ&@
InterApp A dedicated member of the BV Group

1/8



BIANCA - FRZ: %1 #&UkiE DN 32-900

L5

1 | DERIRIE, #BIAIKEKEN-JS 1025

2 | — A=\ BBt RAR /4

3 | &NEE3 mmHPFARE

4 | PFABSEI YIRS AR BIE
5 | MEBSEIVRIR, RITEKVE

6 | HHERPFARIER

7 | RIS RS

8 | BiFEHhE

9 | ShEREHERES

10 | R R, BILERRE 2R
1 | BRNRFR SR

12 | AIEEN 1SO 15848-1

BIANCAHP ;&H&=E4%r=

Rk EESEMHT SHHUE {1 J7£100004%/1SO 745 4=, B SPRNEE N
HITAE MR F S

HI%E(E (PTFERM, AR2EH)

DN | 32/40 ‘ 50 ‘ 65 ‘ 80 ‘ 100 ‘ 125 ‘ 150 ‘ 200 ‘ 250 ‘ 300 | 350 | 400 | 450 | 500 | 600 | 700 | 750 | 800 | 900
6 bar 675 | 900 | 1100 | 1300 | 1750 | 2100 | 2800 | 3100 | 4000
10 bar 189 | 330 | 476 | 810 | 1080 | 1320 | 1560 | 2100
16 bar| 21 ‘ 25 ‘ 39 ‘ 43 ‘ 73 ‘ 87 ‘ 146 | 227 | 396 | 571

www.interapp.net 2/8



BIANCA - FRZ: %1 #&UkiE DN 32-900

KV{E m3/h
I E
DN 20° 30° 40° 50° 60° 70° 80° 90°
32/40 4 8 17 30 45 65 85 95
50 5 11 24 42 64 92 118 134
65 8 19 41 70 108 155 200 227
80 15 33 72 125 190 270 335 392
100 20 48 95 162 255 385 485 585
125 38 82 165 255 455 645 815 1015
150 60 130 235 395 645 955 1220 1495
200 95 230 465 795 1180 1815 2410 3050
250 175 350 710 1160 1610 2420 3650 4510
300 265 522 995 1720 2665 3965 5960 7210
350 350 660 1180 1800 2880 4550 7180 8760
400 510 985 1480 2450 4230 6550 9250 11350
450 665 1255 2230 3850 6250 9200 12250 14900
500 890 1620 2980 5350 8150 11800 15560 18000
600 970 2150 4180 7420 11350 16450 21200 24500
700 1060 2560 4868 8412 14359 23901 37638 48633
750 1217 2939 5588 9675 16484 27437 43207 55829
800 1402 3328 6351 11169 19073 32074 51820 63905
900 1915 4259 7897 13849 23887 41112 66771 81016
c,=k,.1,16
A= —
bﬁgﬁ
100
90 /
80
70
% 60
€
-
S 50
X
w40
I} /
R 30 /
20 //
0 4-_/
0° 10° 20° 30° 40° 50° 60° 70° 80° 90°

I E

www.interapp.net 3/8



BIANCA - £ st @Uiki® DN 32-900

EN/RERLZ

Vacuum

[bar]
DN 32-150, DN 200-300 with disc 4W0/4WT [mbar abs]
16 < ——— 800
14 £ 700
g 12
- A)‘ \ ()
12 2 “\Q AN '&7‘\ 600
m N <o
(2
DN 200-300, DN 350-600 with disc 3LT/ALT/ATO
10 —— \ 500
— \
\
8 \ \ 400
DN350-90 \
6 - - \ 300
— Laee®
ULTRAFLON/MVQ DN350-600 e beseery
4 eee e eeee S00eepoescerececvsscssoccccecccsocee e [AA NN EXN NN ] eeee XXX X] \ 200

100

.o
l‘..'.

.

xd oo
AN R L

ULTRAFLON/MVQ

20 10 O 10 20 30 40 50 60 70 80 90 100 110 120 130 140 150 160 170 180 190 200 [°C]

bessslese

N TFESREPNA, BRARKNBRAR T,

ULTRAFLON® R#JRY (1.3

BiE TH
ULTRAFLON® - PTFE - PFA (BRE1mm)A9tbis ERHA T 9%R MR
Hifar 115 N/mm2, 4 [A#A
cl H4Eadia) 1100 /)\BY, AN EHA
2 RE :23°C (73°F)

Zi024/ )\ BB BRIKA LR B

460 e

HCI

0 500 1.000 1.500 2.000 2.500 3.000 0 5 10 15

858 [om®/m2 x d x bar] B [%]

B ULTRAFLON®
B PTFE
BN PFA

www.interapp.net 4/8



BIANCA - FRZ 4t @R DN 32-900

B SRS
B1 0100 3 3 2BE 4GT . T E - xx
(1 ® ©6e0 o6 0O 006 o
B1 PSES DN 32-600
Q REEm B3 *H DN 32-400
B4 UBLE= DN 400-900
@D 2pER 00320900 | mm
1 6 bar DN 350-900
© = B
3 16 bar DN 32-150, DN 200-300 F54WO0/4WT AR
O EiEing o PN10/16/ANSI B16.5 cl150 L F5; EEER, BEHREI
) 2BE EREKEN-JS 1025 / EN-GJS-400-18LT / =~ ASTM A395 60-40-18, IF @ ;R//E80 um
SIS 4B0 REE#1.4409 / =~ ASTM CF3M DN 32-400
TEAIN1.4408 / =~ ASTM CF8M DN 32-300
e TERIN1.4404 / = AISI 316L DN 350-500, DN 600 - 900 iEBX R T~
TEEN1.4408 / =~ ASTM CF8M#fi.Ra < 0.8 DN 32-300
o FEEM1.4404 / ~ AISI 316LHi1¢Ra < 0.8 DN 350-500, DN 600 JEBZR T
4GJ TEEN 1.4435 / ~ AISI 316L, $hEfhk< 0.1%, B Ra<0,4 DN 32-300
TEM1.4408 PFABLEE DN 32-300
o TEW1.4301 PFABLE, i@ 5#1.4404 DN 350-900, IEBAR LI~
O e 4W0 SWABFEEN1.4469 / ~ ASTM A 890 grade 5A DN 32-300, 16 bar
4WT AR FEN1.4469 / ~ ASTM A 890 grade 5A PFATIZE DN 32-300, 16 bar, DN 350, 10 bar
4T0 AR EE N 1.4462 DN 350-600, 10 bar
aT TR 1.4542 PFAELE DN 350-600, 10 bar, DN 700 - 900, 6 bar
3T BRMEEAR1.0577 PFABLER, iR 5N 1.4542 DN 350-600, 10 bar, DN 700 - 900, 6 bar
3TT MIEARPFABLE, IR T H511.4462 DN 350-400, 10 bar
**A PFA &% (26, TTFDA, &4 (EU) No. 10/2011)
7HO MEKSE 24819/ ~ IRERAE C276 DN 50-300 (REBHKATI)
770 £k 3.7035, Grade 2 (BBRIN)
T PTFE (* BF1REEHT)
TV ULTRAFLON® (UF)BAFHZ. &SI RNA
@ it T*A PTFERAEREE (2, #FDA , #F & (EU) No. 10/2011)
T*VA ULTRAFLON® B3 (&, #5FDA, # & (EU) No. 10/2011)
S MVQ, R RE200 °C
O *mmEH E EPDM, &&=EE130 °C
¢ |ensmama D
LF TR MTE AT RAE A hAS A R A
O waik HP BAE @ EEAER, #TER AL AT REBKFRE209E,2510000, 1SO Class 7 (ISO 14644-1))
112/246 | ATEX/IECEX: 3 MFMInterAp AT BTEIBIF I ST R BRI
180 Pri% RGO Uk EN 1SO 15848-1
"R (459 WEHERR, BHRAL
BIANCA on- |s|s|s|s|=s|e|s|e|8|z|s|8|s|8|8|8|s|2|58|s
) PN10 8 2
é B1 PN16 3
ANSI cl.150 & A
PN10 3 \ 2
@ B3 PN16 3
ANSI cl.150 A
PN10 2 2
B4 PN16 3 3
ANSI cl.150 A

LR REEELRIEN, FERREARE T,

www.interapp.net

5/8



BIANCA - FRZ: %1 #&UkiE DN 32-900

R~

BIANCA B1, 3§

DN 32-65 DN 80-150 DN 200-400 DN 450-600

L]

1) DN 450 - 600, i@ JZRERFIEE
BEAEB MR

BIANCAB3, % H

DN 32-65 DN 80-150 o DN 200-400

D3

ey/eb

M

DN | d A B c H X | b1 | D3 F 1SO a y b G E M |B1kg]| B3kg]
32140 | 40 | 125 | 69 | 33 | 23 | 4 [1058] 136 | 9 FO5 | 65 | 4x7 | 50 | 11 12 [ Mex12 | 17 | 24
50 | 50 | 134 | 68 | 43 | 26 | 9 |1184| 162 | 9 FO5 | 65 | 4x7 | 50 | 11 12 [ Mex12| 23 | 32

7 9
9

65 65 145 78 46 39 1325 | 170 F05 65 4x7 50 1 12 M6x12 | 2.9 4.1
80 80 160 92 46 66 17 144 216 F05 65 4x7 50 1 12 M6x12 | 3.4 6.2
100 | 100 | 175 107 52 86 24 173 254 12 F05/07 90 | 4x7/9 | 50/70 | 14 16 M6x12 | 5.1 9.3
125 | 125 | 194 120 56 112 35 219 293 12 F05/07 | 90 | 4x7/9 | 50/70 | 14 16 M6x12 | 6.9 10.7
150 | 150 | 210 134 56 140 47 247 315 12 FO7 90 4x9 70 17 19 M6 x 12 10 12.9
200 | 200 | 239 162 60 191 70 295 389 15 |FO7/F10| 125 |4x9/11|70/102| 17 19 M6x12 | 141 | 223
250 | 250 | 275 199 68 241 91 367 483 15 F10 125 | 4x11 102 22 24 M6 x12 | 22,9 | 324
300 | 300 | 310 230 78 290 | 1M1 419 543 15 F10 125 | 4x11 102 22 24 M6x12 | 329 | 46.9
350 | 339 | 349 257 78 330 | 131 | 428 564 16 F12 155 |4x13.5| 125 27 40 |M10x20| 50 87
400 | 400 | 379 287 102 387 | 149 | 473 620 16 F12 155 |4x13.5| 125 27 40 |M10x20| 68 98

450 | 450 | 426 320 114 436 | 168 | 528 - 21 F14 175 | 4x18 | 140 | @45 65 |M12x20| 100 -
500 | 500 | 451 360 127 484 | 187 | 588 - 21 F14 175 | 4x18 | 140 | @45 65 |M12x20| 122 -
600 | 600 | 555 415 154 580 | 223 | 686 = 26 F16 210 | 4x22 | 165 | @60 90 |M12x20| 180 -

RS XA H AIEEmARTE!
FRIERIETERTENGRT, BEXERT,

www.interapp.net 6/8



BIANCA - FRZ: %1 #&UkiE DN 32-900

Rt

BIANCA B4, UBYj£=

DN 400-600 DN 700-900 o
w
F
1)
2)
<C
1 1)DN 450 - 900, i®i JFZRFEZB B MELFL
\ z / 2)DN 600 - 900, FflIEH M- MRSFL
g \\\ . v
D4 |
oy | ab M

q |
DN d A B4 © H X D4 F ISO a y b G E M B4[kg]
400 400 379 290 102 387 149 616 16 F12 155 |4x13.5| 125 27 40 M10 x 20 95
450 450 426 320 114 436 168 630 21 F14 175 4x 18 140 @45 65 M12 x 20 140

500 500 451 360 127 484 187 700 21 F14 175 4x 18 | 140 D45 65 M12 x 20 175
600 600 555 415 154 580 223 820 26 F16 210 4x22 | 165 260 90 M12 x 20 275
700 703 605 482 165 684 269 930 26 F16 210 4x22 | 165 72 80 M20 x 40 367
750 750 629 489 190 726 280 970 26 F16 210 4x22 | 165 260 90 M12 x 20 383
800 803 658 550 190 781 307 1060 29 F25 300 8x18 | 254 280 108 | M20 x 40 670
900 900 710 602 203 877 349 1160 36 F30 350 8x22 | 298 298 128 | M24 x48 880

TUEZ=ARIEISO 5211 3%, T EFMUBS S

DN 450-900 DN E | o6 d e F M
450 | 65 | 45 14 | 21 | 488 | M12x20
500 | 65 | 45 14 | 21 | 488 | M12x20
600 | 90 | 60 18 | 26 | 644 | M12x20
700 | 80 | 72 | 20 | 26 | 769 | M20x40
750 | 91 | 60 18 | 26 | 644 | M12x20
800 | 108 | 80 | 22 20 | 854 | M20x40
90 | 128 | 98 | 28 | 36 | 1044 | M24x48

HLA : 58, M EURE

DN FRES AV H L [kgI*
32/40 129 56 210 0.4
50 138 56 210 0.4
—— HLAF0511.210-C1
65 149 56 210 0.4
80 164 56 210 0.4
100 179 66 340 0.7
——— HLAF0714.340-C1
125 198 66 340 0.7
150 HLA.F0717.340-C1 214 66 340 0.7

© [kg] TEKRNES

www.interapp.net 718



BIANCA - FRZ: %1 #&UkiE DN 32-900

R~
PSE]
GB 880-6800
DN AV H L o P R S T n** [kgl*
32/40 | GB232-05.F05-F0711.100 125 53 126 425 48 100 14 80 10 0.8
50 GB232-05.F05-F0711.100 134 53 126 42.5 48 100 114 80 10 0.8
65 GB232-05.F05-F0711.100 145 53 126 42.5 48 100 114 80 10 0.8
80 GB232-05.F05-F0711.100 160 53 126 425 48 100 114 80 10 0.8
100 GB232-05.F05-F0714.100 175 53 126 42.5 48 100 114 80 10 0.8
125 GB232-05.F05-F0714.100 194 53 126 42.5 48 100 114 80 10 0.8
150 GB232-06.F05-F0717.160 210 59 189 425 48 160 114 80 10 0.9
200 GB232-06.F05-F0717.160 239 59 189 42.5 48 160 114 80 10 0.9
250 GB232-08.F07-F1022.250 275 67 219 50 56 250 131 100 9.25 1.55
300 GB232-08.F07-F1022.250 310 67 219 50 56 250 131 100 9.25 1.55
350 GB232-13.F10-F1227.300 349 85 371 80 83 300 209 175 10 5.4
400 GB232-13.F10-F1227.400 379 85 371 80 83 300 209 175 10 5.4
450 GB880N.F1445.500 426 92 305 86 101 500 227 200 9.5 14
500 GB880N.F1445.500 451 92 305 86 101 500 227 200 9.5 14
600 GB1250N.F1660.500 555 102 346 104.5 110 500 258 220 13.75 22
700 GB1950N.F1672.600 605 126 387 130 142.5 600 3225 285 13 32
750 GB1950N.F1660.700 629 126 387 130 142.5 700 322.5 285 13 32
800 GB2000NLB.F2580.500 658 120 348 53 142 500 300 285 27 27
900 GB6800N/PR4.F3098.400 710 159 470 182 170 400 407.5 370 81.5 63
#E: GB 232 18, REFEEHRE * kgl FRERMFLNES
GB1250-GB6800 GG 25 BR A HE ** n=FRIT/XEH
ELER

KFSEHITE BRI TR NI ES BN REdER
RFRE BBIEZ FSRRARRARESHEFH

The technical data are noncommittal and do not assure you of any properties. Please refer to our general sales conditions. Modifications without notice.
© 2024 InterApp AG, all rights reserved

www.interapp.net 8/8 BIANCA_2418cn-s



